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ACC501 3 Finalterm Papers and | mportant MCOS
Solved...

By Armaan Makhani

FINALTERM
EXAMINATION
Paper 1

QuegtionNo: 1 (Marks: 1) - Please choose one
The accounting definition of incomeis:
»Income = Current Assets -Current Liabilities
» Income = Fixed Assets - Current Assets
»Income = Revenues - Current Liabilities
» Income = Revenues - Expensespg 17
QuegtionNo: 2  (Marks: 1) - Please choose one
What would be the capital spending for.an organization who has purchased fixed
assets of Rs. 200,000 and sold fixed assets of Rs. 45,0007
» Rs. 245,000
» Rs. 200,000
»Rs 155,000
» Rs.'45,000

200000-
45000=155000

QuestionNo: 3 (Marks: 1) - Please choose one

Selected information from SNT Company's accounting recordsis as follows:
0 Cash paid to retired common shares Rs. 15,000
o Proceeds from issuance of preferred shares Rs. 20,000
o Cash dividends paid Rs. 8,000

Note: Solve these papers by yourself
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0 Proceeds from sale of equipment Rs. 25,000

On its cash flow statement for the year, SNT Company should report net cash
flow from financing activities as:

» Rs. 3,000 net cash inflow
» Rs. 3,000 net cash outflow
» Rs. 8,000 net cash inflow

» Rs. 8,000 net cash inflow

QuestionNo: 4  (Marks: 1) - Please choose one
SNT Company has a current ratio of 3:2. Current Liabilitiesyreported by the
company are Rs. 30,000 . What would be the Net Working Capital for the
company?

» Rs. 45,000

» Rs. 15,000

» (Rs.45,000)

» ( Rs. 15,000)

Question No: 5 . (Marks: 1) - Please choose one

Which of thie following would not improve the current ratio?

»Borrow short-term to finance additional fixed assets
» | ssuelong-term debt to buy inventory
» Sell common stock to reduce current liabilities

» Sell fixed assets to reduce accounts payable

QuestionNo: 6 (Marks: 1) - Please choose one

Note: Solve these papers by yourself
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Which of the following are incorporated into the calculation of the Du-Pont
Identity?

|. Return on assets 1.

Equity Multiplier

[11. Total Assets Turnover

V. Profit Margin

»1, II, and IIT only

» 1, IIL, and IV only

> 1 1, and IV

QuegstionNo: 7 (Marks: 1) - Please cheosetone

The concepts of present value and futurealue are:

» Directly related to each other
» Not related to each other
» Proportionately related to each other

» | nversely related to each other

Question’No:\8 ~ (Marks: 1) - Please choose one

Whicheef the following is a special case of annuity, where the stream of cash flows
continues forever?

» Special Annuity

» Annuity Due

Note: Solve these papers by yourself
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P Perpetuity

QuestionNo: 9  (Marks: 1) - Please choose one
Which of the following is an unsecured bond for which no specific pledge of
property is made?

» Mortgage

» Debenture

» Collateral

» Note Payable
Debenture is an unsecured bond
for which no specific pledge of
property is made
QuestionNo: 10  (Marks: 1) - Please choose one

Which of the following type of return vefersto the percentage change in the
amount of money you have?
» Nominal return
» Real return
» Inflation return
» Noneof the'given option
Y our nominal returnisthe

percentage change in the amount
of money you have.

QuestionNo: 11  (Marks: 1) - Please choose one

Whenreal rateis , dl interest rates will tend to be )

» Low; higher

Note: Solve these papers by yourself
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» High; lower
» High; higher

» None of the given options
When redl rateishigh, al interest
rateswill tend to be higher and
vice versa

QuegtionNo: 12 (Marks: 1) - Please choose one
Which of the following isthe extrayield that investors dem and on &taxable bond
as a compensation for the unfavorable tax treatment?
P Interest rate risk premium
»Inflation risk premium
» Default risk premium
» Taxability premium
Investors demand extra yield on ataxable bonthas acompensation for the unfavorable tax

treatment, known as
taxability premium

Quedtion No: 13 (Marksal) - Please choose one

In which type of the market, previously issued securities are traded among
investors ?

» Primary Market
» Secondary Market pg 100
» Tertiary Market

» None of the given options
Secondary M ar ket
The market in which previously
issued securities are traded among

Note: Solve these papers by yourself
This VU & ) : ble f, ved rent
www.vuaskari.com



Composed & Solved
Armaan Makhani
Vu Askari Team
www.vuaskari.com

investors

QuegtionNo: 14  (Marks: 1) - Please choose one

Place the following itemsin the proper order of completion regarding the capital
budgeting process.

(I Perform a post-audit for completed projects;

(I1) Generate project proposals;

(111 Estimate appropriate cash flows; (1V)

Select value-maximizing projects; (V)

Evauate projects.

I, V, 1,1V, and |

I 01, V, IV, and |

I, 11,1V, V,and |
http://wps.pearsoned.co
.Uk/wps/grader

QuegtionNo: 15  (Marks: 1) < Please choose one

Aninvestment w ill be if the IRR doesn’t exceed sthe required return
and otherwise.

» Accepted; rejected
» Accepted; ‘accepted
P Rejected; rejected

» Reected; accepted pg 109

QuestionNo: 16  (Marks: 1) - Please choose one

IRR and NPV rules always lead to identical decisionsaslong as:

Note: Solve these papers by yourself
This VU & ) : ble f, ved rent
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P Cash flows are conventiond
» Cash flows are independent

» Cash flows are both conventional and independent

» None of the given options

QuestionNo: 17  (Marks: 1) - Please choose one

A project whose acceptance does not prevent or require the acceptanceef one or
more alternative projectsisreferred to as:

» A mutually exclusive project
» An independent project
» A dependent project

P> A contingent project

Quedtion No: 18  (Marks: 1) - Please choose one
Finding Net Present \Value comes under which type of capital budgeting criteria
?

» Discounted Cash Flow Criteriapg 118

» Accounting Criteria

» Payback Criteria

» None of the given options

QuegtionNo: 19  (Marks: 1) - Please choose one

Cost isan outlay that has already occurred and hence is not affected by

Note: Solve these papers by yourself
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the decision under consideration.
» Sunk

» Opportunity

» Fixed

»Variable
Question No: 20 (Marks: 1) - Please choose one
Which of the following is the overall return the firm must earn on its.existing
assets to maintain the value of the stock ?

»WACC (Weighted Average Cost of Capital)

»AAR (Average Accounting Return)

»IRR (Intemal Rate of Retum)

»MIRR (Modified Internal Rate of Return)
QuestionNo: 21 (Marks: 1) - Please choose one

Mr. A, as afinancial consultant, hasprepared afeasibility report of a project for
XYZ Company that the campany is planning to undertake. He has suggested that
the project is feasible. The consultancy fee paid to Mr. A will be considered as:

» Oppoktunity cost
»Both sunk cost and opportunity cost

» Neither sunk cost nor opportunity cost

QuestionNo: 22 (Marks: 1) - Please choose one

The current price of SNT stock is Rs. 50. Dividends are expected to grow at 7
percent indefinitely and the most current dividend was Rs. 1.00. What isthe

Note: Solve these papers by yourself
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required rate of return on SNT stock?

»9.00 percent
»9.14 percent
»9.33 percent

» 10.65 percent

Quedtion No: 23  (Marks: 1) - Please choose one

Which of the following are rights of an owner of a share of common/stock for
firm which has no preferred share?

» Theright to vote for directors
»Theright to share proportionately in dividend paid
» The right to vote on stockhol der maitters of great importance

» All of the given options

QuegtionNo: 24  (Marks: 1) - Please choose one

Which one of the fellowing typically applies to preferred stock but not to
common stock?

» Dividendiyield

» Cumulative dividends

» Voting rights

» Tax deductible dividends

QuegtionNo: 25  (Marks: 1) - Please choose one

Note: Solve these papers by yourself
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Y ou must own which of the following to vote against a merger proposal from
another corporation?

» Preferred share

» A debenture

» Cumul ative dividend stock

QuegtionNo: 26 (Marks: 1) - Please choose one

Which of the following strategy belongs to flexible poligy regarding size of
investments in current assets ?

» To maintain a high ratio of current assetsto sales
»To maintain alow ratio of current assetsto sales
» To maintain less short-term débt and/more long-term debt
» To maintain more short-texm debt and less long-term debt

Size of investments in current assets
*Flexiblepalicy

®maintain a high#atiooficurrent assetsto sales
®Restrictive policy

*maintainfalowTratio of current assetsto sales
Financing,of\current assets

*Flexiblepolicy
®|ess short-term debt and mor e long-term debt
® Restrictive policy

®*more short-term debt and lesslong-term debt
If policies
Quegtion No: 27 (Marks: 1) - Please choose one

Which of the following strategy belongs to flexible policy regarding financing of
Note: Solve these papers by yourself
This VU & . : ble f, ved rent
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current assets ?

» To maintain a high ratio of current assetsto sales
»To maintain alow ratio of current assets to sales
» To maintain less short-term debt and more long-term debt

» To maintain more short-term debt and less long-term debt

QuegtionNo: 28 (Marks: 1) - Please choose one

Suppose you have Rs. 10,000 on deposit. One day, you write a cheque for Rs.
2,000 and deposit Rs. 4,000. What is your collection float ?

» Rs. 4,000

»+ Rs. 2,000

» Rs. 2,000

»+ Rs. 4,000

Question No: 30¢,. (Marks: 1) - Please choose one

Which of thefollowing is known as the group of assets such as stocks and bonds
held by aminyestor ?

» Stock Bundle
» Portfolio
» Capital Structure
» None of the given options
Note: Solve these papers by yourself
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QuestionNo: 31  (Marks: 1) - Please choose one

Which of the following isreferred as the ratio of the standard deviation of a
distribution to the mean of that distribution ?

» Probability distribution
» The expected return

» The standard deviation
» Coefficient of variation

QuestionNo: 32  (Marks: 1) - Please choose one
The MC Inc. purchased a share of common stock exagtly‘ene year ago for Rs. 45.
During the past year the common stock paid anannual dividend of Rs. 2.40. The
firm sold the stock today for Rs. 80. What'isthe rate of return the firm has
earned?

»53%

» 194.2%

»83.11%

»94.2%

QuestionNe:\33  (Marks: 1) - Please choose one

M. Sami, has bought 50 shares of a corporation one year ago at Rs. 20 per share.
Overithe last year, he received adividend of Rs. 2 per share. At the end of the
year, the stock sellsfor Rs. 25. As per given information, what will be his total
percentage return ?

»10%

»20%

Note: Solve these papers by yourself
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»35%
»45%

Dividend yield= 2/20=0.1%
Capital gain yield =(25-20)/20=0.25%
Total percentagereturn 0.1+0.25* 100=35%

QuestionNo: 34 (Marks: 1) - Please choose one

While performing the feasibility analysis for a project, an operating cash-flow of Rs.
225,000 has been calculated. Net working cap ital has declined by Rs; 40,000. There
w as anet capital sp ending of Rs. 100,000 d u ring the year. What w ill be the

total cash flow for the project?

» Rs. 85,000
» Rs. 165,000
» Rs. 285,000

» Rs. 365,000
Operating cash
flow —changein
NWC — Capital
spending
225000~(-40000)-
100000=165000

Question No:'385  (Marks: 1) - Please choose one

Theitotal market value of a company s stocks is calculated as Rs. 250 million and the
total market value of the company s debt are calculated as Rs. 150 million.
What percent of the firm sfinancing is debt?

» 50.00%
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»62.50%
» 70.00%

250+150=400
250/400=0.625

0.625* 100=62.5 is equity and
100-62.5=37.5 is debt

QuestionNo: 36 (Marks: 1) - Please choose one

Suppose afirm borrow s Rs. 800,000 at 7%. What w ill be the after-taxsinterest rate
if tax rate is 34%7?

» 3.00%

»5.20%

»8.00%
Rox (1
—To).
7%X(1-
0.34)=4
.62

QuestionN@: 3t (Marks: 1) - Please choose one

Opportunity fosses from having inadequate inventory are termed as:

P Carrying costs

» Opportunity costs
» Restocking costs

» Safety reserve costs
Restocking costs — costs of placing an order with suppliers or the cost of setting up a production

Note: Solve these papers by yourself
This VU & ) : ble f, ved rent
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® Safety reserve costs — opportunity losses from having inadequate inventory e.g. lost sales and
goodwill
® A trade off
® Carrying costs increase with inventory level s and shortage or restocking costs decline with
inventory levels
®The goal of inventory
management isto minimize
the sum of these two costs

Question No: 38 (Marks: 1) - Please choose one

What w ill be the Economic Order Quantity (EOQ) if total u nit saleS((I.).= 400,
fixed costs (F) = Rs. 30 and carrying costs (CC) =Rs. 5?
» 65 units
» 69 units
» 89 units
» 95 units
EOQ=(2T x F
[ CC)u2
2*400=800
800* 30=24000

24000/5=4800
4800"0.5=69.28

Quedtion No39,  (Marks: 1) - Please choose one

Thecost of common equity for afirmis:

» The required rate of return on the company's stock
» The yield to maturity on the bond
» Therisk-freerate

» The market risk premium

Note: Solve these papers by yourself
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QuestionNo: 40  (Marks: 1) - Please choose one
A firm has 3 million in comm on stock, 1 million i n preferred stock and 2 million
in debt. What is the percentage of firm s financing that is debt ?

» 20%

» 3%

»40%
»67%

QuegtionNo: 41 (Marks: 1) - Please choose one

The book value of asystem is Rs. 50,350 at'the'end of year 3 of itslife. What will be
the total after-tax cash flow from sale if we sall,this system for Rs. 30,000 at this
time? (Tax rate is 34%)

» Rs. 20,350

» Rs. 30,919

» Rs. 80,350
50350-30000=20350x34%=6919
30000+6919=86919

Question No: 42  (Marks: 1) - Please choose one

What w ill bethe varianceif standard deviation for the returns of an investment
is0.2829 ?

» 0.0800
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» 0.0892
» 0.5319

P Cannot be estimated without more information

Question No: 43 (Marks: 3)

Write down the components of total return in terms of dividend growth model;
Answer

R=Di/Potg
[IThis tells us that the total retum, R, has two components

LI D1/Pois caled the Dividend Yield. Becausethis s calculated as the expected cash dividend by
the
current price, it is conceptually similar to the current yield on a bend

[ |Growth rate, g, is also the rate at which the stock price grows."So it can be interpreted as

capital
gainsyield

Quedtion No: 44 (Marks: 3)

What is the difference between operating €ycle and cash cycle?

The operating cycleis the sum of theinventery and receivable periods
Operating cycle = Inventory period +Receivabl e period

Cash cycle

® The time between cash dishursement and cash collection. (We spend cash on day 30, but don't
collect until
day 105. so we have'to"arrange finances $1,000 for 105 — 30 = 75 days)

® So we can describethe cash cycle as.
Cash cycle =/@perating cycle — Accounts payable period
75 dayS= 105 days — 30 days

Question'No: 45  (Marks: 3)

How afirm soveral cost of capital is calculated ?

We know that afirm’s overall cost of capital will reflect the required return on the firm’s assets as
awhole.

®Given that afirms uses both debt and equity capital, this overall cost of capital will be amixture

of the
returns needed to compensate its creditors and stockholders.

Note: Solve these papers by yourself
This VU & ) : ble f, ved rent
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®Cost of capital will reflect
®Cost of equity capitd

®Cost of debt capital
Cost of Equity

QuestionNo: 46  (Marks: 5)

Define the following terms:
() Dedler
An agent who buys and sells securities from a maintained inventory
(11t stands ready to buy securities from investors wishing to sell them and sellsstcuritiesto
investors
wishing to buy them
(D) Broker
An agent who arranges security transactions among investors, matching investors wishing to buy
securities with investors wishing to sell securities

[1They do not buy or sell securities for their own accounts. Facilitating trades others is their
business

(iii) Bid Price

(iv) Strike Price
The price that the dealer wishes to pay is the bidiprice and the price a which the dealer sellsthe
securitiesis called the
strike price.
V)  Spread
The difference
between the bid and

ask priceis caledithe
Spread

Question N6;,47  (Marks: 5)

A firmhas atotal value of Rs. 1 million and debt valued at Rs. 400,000. What is
the after=tax weighted average cost of capital if the cost of debt is 12%, the cost of
equityiis 15% and tax rate is 35% ?

Question No: 48 (Marks: 10)

SNT & Co. hasthe following Target capital structure:

Debentures = Rs. 5.00 Billion

Note: Solve these papers by yourself
This VU & ) : ble f, ved rent
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Preferred shares Rs. 2.65 Billion
Common shares Rs. 9.35 Billion

Totd Rs. 17 Billion

Bonds carry an interest rate of 11.5%. Common stocks and Preferred stocks have a
return of 15.50 % and 12% respectively and corporate tax rate is 40%. Compute the
present Weighted Average Cost of Capital (WACC) for SNT & Co.

Question No: 49  (Marks: 10)

Standard Manufacturing Company (SMC) need s one of two machines."Machine X
costs Rs. 25,000 and has cash flow s of Rs. 8,000 a year for six years. Machine Y
costs Rs. 30,000 and has cash flow s Rs. 7,000 a year for six years. SMC has 12%
cost of capital. Calculate each machine s Payback Peried andiNPV (N et Present
Vaue) and evauate the results.

Paper 2
QuestionNo: 1 (Marks: 1) - Please choose ene

Which of the following is the difference between current assets and current?
Liabilities?

» Surplus Asset

» Short-term Ratio

» Working Capital

» Current Ratio

Quegtion No: 2 (Marks: 1) - Please choose one

A business owned by a single person is known as:

» Sole-proprietorship
» General partnership
» Limited partnership
Note: Solve these papers by yourself
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» Corporation

QuestionNo: 3 (Marks: 1) - Please choose one

In a common-size balance sheet, all items are shown as a percentage of:

» Total Assets
» Total Liabilities
» Total OwnersEquity
» None of the given options
QuestionNo: 4  (Marks: 1) - Please choose one

A company's ability to meet long-term obligations.ean be estimated by using
which of the following set of ratios?

» Liquidity Ratio

» Asset Management Ratios
» Market Vaue Ratios

Question No: 5 wy(Marks: 1) - Please choose one

According to Du Pont Identity, ROE is affected by which of the following?

P Operating efficiency
> Asset use efficiency
» Financial Leverage

» All of the given options
The Du Pont identity tells us that ROE is affected by three things:
[Operating efficiency (as measured by profit margin)
[JAsset use efficiency (as measured by total assets turnover)

Note: Solve these papers by yourself
This VU & ) : ble f, ved rent
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[JFinancial Leverage (as
measured by equity multiplier)

QuestionNo: 6 (Marks: 1) - Please choose one
Which of the following is a series of constant cash flows that occur at the end of ?
each period for some fixed number of periods?
» Ordinary annuity
» Annuity due
» Perpetuity
» None of the given options
A series of constant, or level, cash flows that occur at the end of eachiperiod for some fixed
number of

periodsis called an ordinary
Annuity

QuegstionNo: 7 (Marks: 1) - Please cheoseone
A portion of profits, which a company“distributes among its shareholders, is
known as.

» Dividends

» Retained Earnings

» Capital Gain

P> nterest
Question N@;,8\ (Marks: 1) - Please choose one
What amount a borrower would pay at the end of fourth year with a 4-year, 12%,
interest=only loan of Rs. 3,000?

» Rs. 360

» Rs. 2,000

» Rs. 3,000

» Rs. 3,360

Note: Solve these papers by yourself
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QuestionNo: 9  (Marks: 1) - Please choose one
A company issues bonds with a Rs. 1,000 face value. What is the coupon rate if
the coupon payments of Rs. 45 are paid every 6 months?

» 3 percent

P 6 percent

» O percent

» 12 percent

QuegtionNo: 10  (Marks: 1) - Please choose one

Given two bonds identical but for maturity, the priee ofithe longer-term bond will
change . that of the shorter-term bond, for a given change in market
interest rates.

» Morethan

P Lessthen
» Equal to

» None of the given options

Question No: 11 “=(Marks: 1) - Please choose one

When corporations borrow, they generally promise to:
l. Make regular scheduled interest payments

I1. Give'the right of voting to bondholders

HiwRepay the original amount borrowed (principal)
IV. Give an ownership interest in the firm

» | andll
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» Il and IV
> 1, 111, and IV

QuedtionNo: 12 (Marks: 1) - Please choose one

Which of the following allows a company to repurchase part or all of the bond?
issue at a stated price?

» Repayment
P Seniority
» Call provision

» Protective covenants

QuegtionNo: 13 (Marks: 1) - Please choose'one
Sumi Inc. has policy of paying aRs. 9¢per share dividend every year. If this

policy isto continue indefinitely, what/'will be the value of a share of stock at a
12% required rate of return?

» Rs. 30
» Rs. 45

» Rs 60

QuestionNo: 14  (Marks: 1) - Please choose one

In which type of the market, previously issued securities are traded among
investors ?

Primary Market

Note: Solve these papers by yourself
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Secondary Market
Tertiary Market

None of the given options

QuestionNo: 15  (Marks: 1) - Please choose one
An investment should be accepted if the net present valueis and
rejected if itis

Positive; positive

Positive; negative

Negative; negative

Negative; positive

QuegtionNo: 16  (Marks: 1) - Please €hoose one

The XY Z Corporation is considering an.investment that will cost Rs. 80,000 and
have auseful life of 4 years. DUring the first 2 years, the net incremental after-tax
cash flows are Rs. 25,000 per year-and for the last two years they are Rs. 20,000
per year. What is the paybackeperiod for thisinvestment ?

3.2Yeas
3.5Yeas

40Yeas

Cannot be determined from the given information

Quegtion No: 17 (Marks: 1) - Please choose one

Which of the following statement is INCORRECT regarding a normal project ?

If the IRR of aproject is greater than the discount rate, k, then its Pl will be

Note: Solve these papers by yourself
This VU & ) : ble f, ved rent
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greater than 1
If the NPV of aproject is greater than O, then its Pl will exceed 1

If the IRR of aproject is 8%, its NPV, using a discount rate, k, greater than
8%, will belessthan O

If the PI of aproject equals 0, then the project'sinitial cash outflow equals
the PV of its cash flows
Quedtion No: 18  (Marks: 1) - Please choose one
Which of the following set of cash flows represent the change in the firm s total
cash flow that occurs as direct result of accepting the project ?

Relevant Cash Flows

Incremental Cash Flows

Negative Cash Flows

All of the given options

QuegtionNo: 19  (Marks: 1) - Please choose one
Which of the following is NOT a problem while determining incremental cash
flows?

M erchandize cost
SUnkscost

Opportunity cost

None of the given options

QuestionNo: 20  (Marks: 1) - Please choose one

Cost refers to the cash flows that could be generated from an asset
the firm already owns provided it is not used for the project in question.

Note: Solve these papers by yourself
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Opportunity
Fixed

Variable

QuegtionNo: 21 (Marks: 1) - Please choose one

The overall (weighted average) cost of capital is composed of aweighted average
of :

The cost of common equity and the cost ef.preferred stock
The cost of preferred stock and the'€ost/of debt

The cost of common equitypthecost of preferred stock, and the cost of debt

Quegtion No: 22 (Marks;, 1) - Please choose one

Which of the following is &characteristic of preferred stock?

These stacks have not stated liquidating value

Dividends on these stocks can be cumulative
pg100

These stocks hold credit ratings quite different from bonds

These stocks have not any kind of priority over common stocks

QuestionNo: 23 (Marks: 1) - Please choose one

Mr. A, as afinancial consultant, has prepared afeasibility report of a project for

Note: Solve these papers by yourself
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XY Z Company that the company is planning to undertake. He has suggested that
the project is feasible. The consultancy fee paid to Mr. A will be considered as:

Sunk cost
Opportunity cost
Both sunk cost and opportunity cost

Neither sunk cost nor opportunity cost

QuegtionNo: 24  (Marks: 1) - Please choose one

One would be indifferent between taking and not taking the investment when:

NPV is greater than Zero
NPV isequal to Zero
NPV islessthan Zero

All of the given options

QuestionNo: 25  (Marksal) - Please choose one

Which of the following is ameasure of accounting profit relative to book value?

Net Present Value
Rrofitability Index

Internal Rate of Return

Average Accounting Return

* AAR isameasure of accounting profit relative to book value

* AAR ruleisto take an investment
if its AAR exceeds a benchmark
AAR

QuestionNo: 26 (Marks: 1) - Please choose one

Note: Solve these papers by yourself
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Which of the following M&M propositions states that it is completely irrelevant
how a firm chooses to arrange its finances ?

1st proposition

2nd proposition

3rd proposition

None of the given options

QuestionNo: 27 (Marks: 1) - Please choose one
According to 2nd M&M proposition, cost of equity does NOT-depend upon
which of the following ?

The required return of firm s assets

The firm s cost of debt

The firm s stockholders pg 153

The firm s debt-equity ratio

Question No: 28 «(Marks: 1) - Please choose one
Which of the following risk is associated with the unique circumstances of a
particular company ?

Financial Risk

Business Risk found
on internet

Functional Risk

None of the given options

Note: Solve these papers by yourself
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Question No: 29 (Marks: 1) - Please choose one

Which of the following type of risk influences alarge number of assets ?

Systematic Risk

Unsystematic Risk
Diversifiable Risk
Asset-specific risk

Thetruerisk of an investment is the unanticipated or surprising part of thereturn:
*|f we always receive exactly what we expect then the investment will be figksfree.

® Systematic Risk
® A risk that influences a
large number of assets. Itis
also called market risk
QuestionNo: 30  (Marks: 1) - Please choose one

Which of the following is an example of ansystematic risk ?

Increasing Recession
Risein Interest Rate
Risein Inflation

Strike call in acompany pg
140

Question N0:31  (Marks: 1) - Please choose one

A"set of possible valuesthat arandom variable can assume and their associated

probabilities of occurrence are referred as:

Probability distribution
The expected return

The standard deviation

Note: Solve these papers by yourself
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Coefficient of variation

QuestionNo: 32 (Marks: 1) - Please choose one

Mr. Sami has bought 50 shares of a corporation one year ago at Rs. 20 per share.
Over the last year, you received adividend of Rs. 2 per share. At the end of the year,
the stock sellsfor Rs. 25. If Mr. Sami sellsthe stock at the end of the year,

what will be histotal cash inflow ?
Rs. 100

Rs 250
Rs. 1,000

Rs. 1,350

50*20=1000
50*25=1250
1250-1000=250

QuestionNo: 33 (Marks: 1) - Please'¢hoose one

While performing the feasibility analysis for a project, an operating cash flow of Rs.
250,000 has been calculated ANetwarking capital has increased by Rs. 50,000. There
was no capital spending during the year. What w ill be the total cash flow

for the project?

Rs. 170,000
Rs. 200,000
Rs. 215,000

Rs. 230,000
2050000-
(+50000)
200000

QuestionNo: 34 (Marks: 1) - Please choose one

Autos & computers are included in which of the following MACRS property

Note: Solve these papers by yourself
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class?

3-year
5-year
7-year

None of the given options
3-year Equipment used in research
5-year Autos, Computers

7-year Most industrial equipment

QuestionNo: 35 (Marks: 1) - Please choose one

The next dividend for acompany is Rs. 5 per share. Thestock current price is Rs. 50
per share. What w ill be the cost of capital if the dividend’s are estimated to
Grow steadily at 5%7?

12.88%

13.07%

14.22%

15.00% g
142

QuegtionNo: 36 (Marks: 1) - Please choose one

Trade €redit'is more likely to be granted if:

The sdlling firm has a cost advantage over other lenders
The sdlling firm can engage in price discrimination

The selling firm can obtain favorable tax treatment

Trade Credit ismore likely to be granted if:

Note: Solve these papers by yourself
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*The selling firm has a cost advantage over other lenders.

*The selling firm can engage in price discrimination.

*The selling firm can obtain favorabl e tax treatment.

*The selling firm has no established reputation for quality products or services.
*The selling firm perceives along-term strategic relationship.

*The optimal credit policy depends on the characteristics of particular firms.
® Excess capacity

Quegtion No: 37  (Marks: 1) - Please choose one

A firm makes asale of Rs. 2,000 on January 05, 2005. The firm is,offering credit
term of 3/10 net 30. How much it will receive if the customer makesithe payment
on January 09, 2005 ?

Rs. 1,000
Rs. 1,940

Rs. 2,000

Rs. 2,100

QuestionNo: 38 (Marks: 1) - Please choose one

Shortage or Restocking costs with inventory
levels

Rise
Decline
Remain unaffected

None of the given options
Carrying costs increase with
inventory levels and shortage or
restocking costs decline with
inventory levels

QuestionNo: 39  (Marks: 1) - Please choose one
Note: Solve these papers by yourself
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Which one of the following motives refers to the need for holding cash to satisfy
norm al disbursement and collection activities associated with afirm s ongoing
Operations?

Speculative motive

Transaction motive

Precautionary motive

Persona motive

Speculative M otive - the need to hold cash to take advantage of additiona investment
opportunities,
such as bargain purchases, attractive interest rates and favorable exchangesater fluctuations.

®Reserve borrowing utility and Marketable securities

®*Transaction Motive - the need to hold cash to satisfy normalidisbursement and collection
activities

associated with afirm’s
ongoing operations.

QuestionNo: 40  (Marks: 1) - Pleasechoose one
What would bethe sandard deviationof reurnsfor aninvetment thet hasa
Variance of 0.008?

0.08944

0.09101

0.09487

0.10521

Question No: 41  (Marks: 1) - Please choose one

A firm has 3 million in common stock, 1 million in preferred stock and 2 million

in debt. What is the that is debt ?
2%

33N

Note: Solve these papers by yourself
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4%

6/%
Question No: 42  (Marks: 1) - Please choose one

Which of the following statement is INCORRECT regarding financial leverage ?

Financial leverage can dramatically alter the payoffs to the sharehelders:

Financia leverage refers to the extent to which afirm relies on the debt.

Financial leverage may not affect the overall cost of capital.

Question No: 43 (Marks: 3)

Define Net Present Value (NPV) and write.dewn the NPV ruleto accept a
project.

Question No: 44 (Marks.3)

What do you mean by the terms of business risk and financial risk?

Question No: 45 %, (Marks: 3)

Suppose theretis an operating cash flow of Rs. 520,000. Net working capital has
increased by*Rs. 200,000 and thereis anet capita spending of Rs. 120,000 during
theyear:, Calculate total cash flow.

QuegtionNo: 46  (Marks. 5)

A replacement project has an initial investment of Rs.10,000; and cash flows are
Rs.3,400; Rs. 2,500; Rs.3,900; and Rs.5,200 for years 1 through 4, respectively. The

firm has decided to assume that the appropriate cost of capital is 10%. What will
be the net present value of the project? Is the project feasible?

Note: Solve these papers by yourself
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Question No: 47  (Marks. 5)

Describe the relationship between capital structure and weighted average cost of
capital (WACC).

Question No: 48 (Marks 10)

The capital budgeting director of MKJ Inc. is supposed to analyze two proposed
capital investments projects S and T. Each project has a cost of Rs.100,000, ‘and
the cost of capital (discounting rate) for each project is 12%. Theprojects
expected net cash flows are asfollows :

Cash flowrs
Y ear Project A Project B
1 30000 30000
2 30000 30000
3 35000 20000
4 25000 30000
5 25000 250000

Calculate Internal Rate of Return{IRR) for both projects.
On the basis of findingsin (i):
a. Which project should be seleéeted if projects are mutually exclusive?

b. Which project or projects should be selected if projects are
independent

Question No: 49 (Marks: 10)

I dentify-the sources and uses of cash and complete the table by following the
example.

Example Increasing current liabilities Increase Sourc
e

Increasing fixed asset

Decreasing equity

Increasing long-term debt

Decreasing fixed assets

Increasing current assets other than cash

Note: Solve these papers by yourself
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6. Increasing equity

7. Decreasing long-term debt

8. Decreasing current assets other than cash
9. Accounts Payable go up by Rs. 1,500

10. Accounts receivable go up by Rs.
2,000

Paper 3

FINALTERM EXAMINATION
armaan.makhani @gmail.com

Quedtion No: 1 (Marks: 1) - Please choose one
Which of the following refersto a conflict of interest between principal and

agent?

Management Conflict

Interest Conflict
Agency Problem

None of the given options

The Agency Problem

[JAgencyrelationship

[1Principal hires an agent to\represent their interest

[1Stockholders (principal§)hire managers (agents) to run the company
[JAgency problem

[1Conflict of interest between principa and agent

[JManagement goals and agency
costs

Question'No: 2 (Marks: 1) - Please choose one

Which of the following term refers to the ease and quickness with which assets
can be converted to cash?

Anaysis
Structuring

Note: Solve these papers by yourself
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Budgeting

Liquidity pg 14

Quegtion No: 3 (Marks: 1) - Please choose one

Product costs do NOT include which of the following?

Raw material

Direct labor

M anufacturing overhead
Administrative expenses

Question No: 4 (Marks: 1) - Please choose one

Which of the following can be computed by, using'the information only from
balance sheet?

Equity multiplier

Inventory turnover

Receivable turnover

Return on equity:

Question No:'\5 (Marks: 1)- Please choose one

Which of the following is CORRECT regarding the present value discount factor?

It isaways greater than 1.0
It decreases as the discount rate increases
It isequal to zero when discount rate is zero
It increases asthetime period increases
Note: Solve these papers by yourself
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Quegtion No: 6 (Marks: 1) - Please choose one
How much must be deposited at 8% each of the next 20 years to have Rs.
10296447

Rs. 225

Rs. 341

Rs. 410

Rs. 452

Question No: 7 (Marks: 1)- Please choose one

In order to compare different investment opportunities'(each with the same risk)
with interest rates reported in different mannexs you shoul d:

Convert each interest rate to an effective annual rate
Convert each interest rate to a monthly nominal rate
Convert each interest rate to an annual nominal rate

Comparethe published annual rates

Question No: 8 (Marks: 1) - Please choose one

You haveRs. 1,0 0 0toinvest. You have 2 choices; first isthe savings account A, which
earns 8.75 percent com pounded annually and second is the savings account B, which
earns 8.50 percent com pounded monthly. Which account

should you choose and why?

Account A; because it has a higher effective annual rate

Note: Solve these papers by yourself
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Account B; becauseit has a higher effective annual rate

Account A; because it has the higher quoted rate

Account B; because the quoted rateis higher

Quegtion No: 9 (Marks: 1) - Please choose one
What will be the value of aRs. 1,0 0 0 face-value bond with an 8% coupon rate:at
8% required rate of return?

More than its face value

Lessthan its face value

Equal to itsface value

Cannot be determined without more information

Question No: 10 (Marks: 1) - Please choose one

Which of the following statement is FALSE regarding debt?

Debt is not an ownership interést in the firm.

Unpaid debt can result in bankruptcy or financia failure.

Corporations payment of interest on debt isfully tax deductible.

Question\No: 11 (Marks: 1) - Please choose one

The relationship between real and nominal returnsis described by the:

M&M Proposition
Capital Asset Pricing Model

Fisher s Effect

Note: Solve these papers by yourself
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BCG Matrix

Quegtion No: 12 (Marks: 1) - Please choose one

Investors dem and a higher yield as compensation to the risk of possible default.
This extra premium is called:

Default risk premium
Taxability premium
Interest rate risk premium

Inflation risk premium

Question No: 13 (Marks: 1) - Please choose one

For which type of stocks, the dividends grow, at'aconstant rate?

Zero Growth Stocks pg 91
Constant Growth Stocks
Non-Constant Growth Stocks

None of thegiven options

Quedtion No: 14 (Marks: 1) - Please choose one
In which type of voting, each shareholder is entitled one vote per share timesthe

number of directors to be elected?

Straight Voting

Note: Solve these papers by yourself
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Statutory Voting
Cumulative Voting

None of the given options

Question No: 15 (Marks: 1) - Please choose one
In which of the following procedure of voting for a company's directors, each
shareholder is entitled to one vote per share ?

Straight Voting

Proportional VVoting

Cumulative Voting

None of the given options

Quegtion No: 16 (Marks: 1) - Please choose one

Which of the following is the price'that the dealer wishesto pay for a share ?

Simple Price
Bid Price
Strike Price pg 100

Camplex Price

Question No: 17 (Marks: 1) - Please choose one

Suppose the initial investment for a project is Rs. 160,000 and the cash flows are
Rs. 40,000 in the first year and Rs. 90,000 in the second and Rs. 50,000 in the third.
The project will have a payback period of:

Note: Solve these papers by yourself
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2.6Yeas
3.1Yeas
3.6 Yeas

41Yeas

Question No: 18 (Marks: 1) - Please choose one

The XY Z Corporation is considering an investment that will cost Rs. 80,000 and
have a useful life of 4 years. During the first 2 years, the net incrementa after-tax
cash flows are Rs. 25,000 per year and for the last two yearsithey are Rs. 20,000
per year. What is the payback period for thisinvestment 2

32Yeas

35Yeas

4.0Years

Cannot be determined fromythe given information

Quedtion No: 19 (Marks: 1) - Please choose one
Which of the following measures the present value of an investment per dollar
invested ?

Net Present Value (NPV)

Average Accounting Return (AAR)

Internal Rate of Return (IRR)

Profitability Index (Pl) pg
119

Quegtion No: 20 (Marks: 1) - Please choose one

Note: Solve these papers by yourself
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Which of the following set of cash flows should be considered in the decisi on at
hand?

Relevant Cash Flows

Incremental Cash Flows

Negative Cash Flows

All of the given options

Quegtion No: 21 (Marks: 1) - Please cheoseone
Cost isan outlay that has already oeeurred and hence is not affected by
the decision under consideration.
Sunk
Opportunity
Fixed

Variablée

Quegtion No: 22 (Marks: 1) - Please choose one

Theoverall (weighted average) cost of capital is composed of aweighted average
of :

The cost of common equity and the cost of preferred stock

The cost of preferred stock and the cost of debt

Note: Solve these papers by yourself
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The cost of common equity, the cost of preferred stock, and the cost of debt

Question No: 23 (Marks: 1) - Please choose one

Over the past four years, a company has paid dividends of Rs. 1.00, Rs. 1.10; Rs.
1.20 and Rs. 1.30 respectively. This pattern is expected to continue intothefuture.
Thisis an example of acompany pay adividend that grows:

By 10 per cent each year

At aconstant rate

By a decreasing amount

At adecreasing rate

Quegtion No: 24 (Marks: 1) -Rlease choose one
Which of the following statement ISsNCORRECT regarding Average Accounting
Return?

AAR isaratethat makesthe NPV equal to zero

AAR{s ameasure of accounting profit relative to book value

An investment is acceptableif its AAR isgreater than a benchmark AAR

None of the given options
worng questions

Quegtion No: 25 (Marks: 1) - Please choose one

Which of the following M&M propositions states that it is completely irrelevant
how afirm chooses to arrange its finances ?

Note: Solve these papers by yourself
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1st proposition
2nd proposition
3rd proposition

None of the given options

Quegtion No: 26 (Marks: 1) - Please choose one

SNT Corporation hasa WACC of 16% (ignoring taxes). At can borrow at 9% .
Assuming that SNT has atarget capital structure of 75% equity and 25% debt,
what will beits cost of equity ?
13.00%
15.23%
18.33%
20.98%
25%/75%==0.33
16%+(16%-9%)x0.33
0.16+(0.16-0.09)x0:33
0.16+0.0231=18.31%

Question No: 27 (Marks: 1) - Please choose one

Which'of the following activities decreases cash ?

Increasing current liabilities
Decreasing long term debt

Decreasing fixed assets

Note: Solve these papers by yourself
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Increasing equity
Activities that decrease cash (uses of cash)

®Decreasing long term debt

®Decreasing equity

®Decreasing current liabilities

®|ncreasing current assets other than cash
®Increasing fixed assets

Question No: 28 (Marks: 1) - Please choose one

Which of the following describes how a product moves through the-€urreni-asset
accounts ?

Cash Cycle

Operating Cycle
Current Cycle

None of the given options
An operating cycle describes how a product moves through the current asset accounts

®|t beginslife asinventory

® Converted to areceivable whenit i's sold
® Converted to cash when'we
collect from the'sale

Question No: 29 (Marks: 1) - Please choose one

Which of thelffellowing is the time between sale of inventory and collection of
receivaples?

fnventory period
Accounts receivable period pg 164
Callection period

A ccounts payable period

Question No: 30 (Marks: 1) - Please choose one
Note: Solve these papers by yourself
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Suppose you have Rs. 10,000 on deposit. One day, you write a cheque for Rs.
2,000 and deposit Rs. 4,000. What is your disbursement float ?
Rs. 4,000
+ Rs. 2,000
Rs. 2,000

+ Rs. 4,000

Question No: 31 (Marks: 1) - Please choose one

Suppose you have Rs. 70 in stock A and Rs. 120 in another stock-B in your
portfolio. Stock A has an expected return of 25% and.stock'B. has an expected
return of 20%. What will be the portfolio expected return?

18.27%

21.84%

2.50%

25.13%

Quegtion No: 32 (Marks: 1) - Please choose one

Which of thefellowing statement(s) is (are) true regarding Return on
Investment?

One of theresponsibilities of the financial manager isto assess the value of
the proposed investment

The return consists of income earned and capital gain

Note: Solve these papers by yourself
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The dollar returns are the sum of the cash received and the change in
dollar value of the asset

All of the given options

Quegtion No: 33 (Marks: 1) - Please choose one

The MC Inc. purchased a share of common stock exactly one year ago for Rs. 45.
During the past year the common stock paid an annual dividend of Rs. 2.40,,Thefirm
sold the stock today for Rs. 80. What is the rate of return the firm has earned?

53%

194.2%

83.11%

2%

Quegtion No: 34 (Marks: 1) - Please.choose one
What will be the cash inflow if we have'saes of Rs. 400,000 and accounts
receivable are increased by Rs«70,0007?

Rs. 70,000

Rs. 230,000

Rs. 470,000

Quegtion No: 35 (Marks: 1) - Please choose one
What will be the cash inflow if we have sales of Rs. 300,000 and accounts
receivable are decreased by Rs. 70,0007

Rs. 70,000

Note: Solve these papers by yourself
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RS 230000

Rs. 370,000
correct

Rs. 470,000
300000-
70000=230000

Question No: 36 (Marks: 1) - Please choose one
Su p pose afirm borrow s Rs. 800,000 at 7%. What w ill be the tota interest,billyp er
year if tax rateis 34% ?

Rs 19,040

Rs. 36,960

Rs. 56,000

Rs. 800,000

800000* 7%=56000
56000* 34%=19040

Question No: 37 (Marks“1) -Please choose one

Which one of the following motives refers to the need for holding cash as a safety
margin to act as afinancia reserve?

Specul ative motive
T ransaction motive
Precautionary motive

Persona motive

® Precautionary
Motive - the need to
hold cash as a safety
marginto act asa
financial reserve

Note: Solve these papers by yourself
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Question No: 38 (Marks: 1) - Please choose one

Suppose market value exceed s book value by Rs. 225,000. What w ill be the after-
tax proceedsif thereis atax rate of 34 percent?

Rs. 105,600
Rs. 148,500
Rs. 191,000

Rs. 225,000
225000* 34%=765,00
225000-765000=148500

Quegtion No: 39

(Marks: 1) - Please choose one

Su p pose you have bou ght 100 shares of a corporation one year ago at Rs. 18 per share.
Over the last year, you havereceived ad ivid end of Rs. 2 p er share. At the end of the
year, the stock sellsfor Rs. 27. Asp er given inform ation, w hat w ill be

the capital gainsyield?

15
%

5
%

H
%

50
%
(27-18)/18=0.5%

Note: Solve these papers by yourself
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Quedtion No: 40 (Marks: 1) - Please choose one

SN T Com pany p u rchased avehicle for Rs. 450,000. Based on historical averages, this
vehicleisw orth 25% of the p u rchase price now and it is being sold at this
p rice. What isthe vehiclesm arket valu e ?

Rs. 14,875

Rs. 112,500

Rs. 337,500

Rs. 230,000

Quegtion No: 41 (Marks: 1) - Please choose one

Standard deviations for Investment Adand.|nvestment B are 19% and 28%
respectively. Thisindicates that:

Investment A is morewoleatile than Investment B

Investment A is'equally volatile to Investment B

Investment Buis less volatile than Investment A

Investment B is more volatile than Investment A

Question'No: 42 (Marks: 1) - Please choose one

Which of the following statement is INCORRECT regarding financial leverage ?

Financial leverage can dramatically alter the payoffs to the shareholders.
Financial leverage refersto the extent to which afirm relies on the debt.
Note: Solve these papers by yourself
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Financia leverage may not affect the overall cost of capital.

Question No: 43 (Marks 3)

What is the difference between dealer and broker ?

Question No: 44 (Marks 3)

What does Static Theory of Capital Structure state?

Question No: 45 (Marks 3)

Suppose thereis an expected rate of 20%. What will be therisk premium if risk
freerateis (i) 8% and (ii) 12% ?

Question No: 46 (Marks 5)

What is the difference between Leverage and Un-levering?

Quegtion No: 47 (Marks 5)

Match the egpital budgeting techniques are given in Column A to the criteriain Column
B. Providethe correct answer in Column C.

Column'A Column B Column C
Net Present Vaue Discounted Cash Flow Criteria
Average Accounting Return | Payback Criteria
Payback Period Discounted Cash Flow Criteria
Internal Rate of Return Accounting Criteria
Note: Solve these papers by yourself
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Quegtion No: 48 (Marks 10)

Each of the following mutually exclusive investment projectsinvolves an initial
ou tlay of Rs. 240,000. The com p any s required rate of return is 11 percent. The
estimated net cash flows for the projects are as follows:

Cashflowrs
Y ear Project A Project B
1 140000 20000
2 80000 40000
3 60000 60000
4 20000 100000
5 20000 180000
Calculate the NPV and PI for both projects. Afyboth projects are mutually
exclusive then which project should be chosen and why?
Quegtion No: 49 (Marks 10)
Consider the following chronol ogicalhevents:
Day Activity Cash effect
0 Acquireinventory on credit | None
35 Pay for inventory Rs 5000
70 Sell inventory on credit None
110 Collect on sde +Rs 6000

From the'given information, find out:
@ inventory period
(i) Accounts receivable period
@ii)  Accounts payable period
(iv) Operating cycle
) Cash cycle

Acch01 lec 1to 40
1% Feb. to 2" Feb

Note: Solve these papers by yourself
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The next dividend for acompany is Rs. 6 per share. The stock current priceis Rs. 57 per
share. What will be the cost of capital if the dividends are estimated to grow steadily at
5% ?

Select correct option:

12.88%

13.07%

14.22%

15.53%
D1=DO0x (1+09)
RE=D1/PO0+g
6x(1+0.05)=6.3

6.3/57+0.05=16.

Which of the following is the time period between'the acquisition of inventory and the
collection of cash from receivables

Select correct option

Operating Cycle pg 164

Cash Cycle

Current Cycle

None of the given options

Question # 2 of 15 ( Starttime: 04:07:41 PM ) Total Marks: 1

Which of the follewingis the time between receipt of inventory and payment for it ?
Select correct.option:

Operating Cyele

Cash Cycle

Current Cycle

None of the given options

Question # 6 of 15 ( Start time: 04:10:23 PM ) Total Marks: 1

Business risk depends on which of the following risk of the firm’'s assets ?
Select correct option:

Systematic Risk pg 155

Diversifiable Risk

Unsystematic Risk

Note: Solve these papers by yourself
This VU & s not ble ved content
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None of the given options

Question # 8 of 15 ( Start time: 04:11:30 PM ) Total Marks: 1

What will be the affect of capital structure on the value of the firm and WACC when
there are no taxes and bankruptcy costs ?

Select correct option:

Value of the firm increases and WA CC decreases

Value of the firm decreases and WA CC increases

Value of the firm and WACC both are not affected pg 158

Capital structure have to do nothing with value of the firm and WACC

Question # 13 of 15 ( Start time: 04:14:19 PM ) Total Marks: 1

Sources of cash dways involve aliability (or equity) account or an asset
account.

Select correct option:

increasing; decreasing pg 163

decreasing; increasing

increasing; increasing

decreasing; decreasing

Question # 14 of 15 ( Start time: 03:41:38'RM )«Fotal Marks:. 1

Which of the following refers to the use of borrowed money to increase the return on
equity of an investment purchase 2

Select correct option:

Financial L everage

Operating Leverage

Structural Leverage

None of the given options

Question # 1 of 15\( Start time: 02:20:49 PM ) Total Marks: 1

The value oftthefirm’s cash flows (or the value of the firm) is when the
WACC s :

Sel ect-Correct option:

minimized; minimized

maximized; maximized

maximized; minimized pg 149

None of the given options

Question # 5 of 15 ( Start time: 02:22:43 PM ) Total Marks: 1
A firm’sequity isworth 4 million and its debt is worth 2 million. What is the percentage
of firm’sfinancing that is debt ?

Note: Solve these papers by yourself
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Select correct option:

20%

33%

40%

67%

Ref:

4+2=6

4/6=0.66

0.66* 100=66.67 is equity and
100-67=33 is debt

Question # 7 of 15 ( Start time: 02:24:51 PM ) Total Marks: 1

Which of the following risk is associated with the unique circumstances of a particular
company ?

Select correct option:

Financia Risk

Business Risk

Functional Risk

None of the given options

Question # 10 of 15 ( Start time: 02:27:15 PM#) Total Marks: 1

According to 2nd M& M proposition, cast ofequiity does NOT depend upon which of the
following ?

Select correct option:

The required return of firm’s assets

Thefirm’'s cost of debt

Thefirm’sstockholders pg 153

The firm’s debt-equity:ratio

Question # 13 of 45 ( Start time: 02:29:40 PM ) Total Marks: 1

Which of the following is the difference between the current assets and the current
liabilities ?

Select correct option:

Net difference

Net wor king capital

Current ratio

Net available capital

Question # 1 of 15 ( Start time: 02:38:01 PM ) Total Marks: 1
Operating cycle =
Select correct option:

Collection period — accounts payabl e period

Note: Solve these papers by yourself
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Inventory period — accounts receivabl e period

Inventory period + accountsreceivable period pg 164
Inventory period + account payable period

Question # 2 of 15 ( Start time: 02:39:24 PM ) Total Marks: 1
A firm’s capital structure may include which of the following ?
Select correct option:

Common stocks

Preferred Stocks not sure

Bonds

All of the given options

Question # 14 of 15 ( Start time: 02:46:33 PM ) Total Marks: 1

Mr. Nadeem has bought 100 shares of a corporation one year ago at\Rs. 22 per share.
Over thelast year, he received adividend of Rs. 2.50 per share. At the'end of the year,
the stock sellsfor Rs. 28. As per given information, what will bethe capital gainsyield ?
Select correct option:

15.85%

25.10%

27.27%

45.00%

Capital gain yield formula

(28-22)/22

=0.2727

Question # 15 of 15 ( Start time! 02:48:05 PM ) Total Marks: 1

Which of the following ternrrefexs to the situation when investors loan out the money ?
Select correct option:

Leverage

Levering

Un-levering pg 152

Loaning

Question#,1 of 15 ( Start time: 11:23:11 AM ) Total Marks: 1
Whichefithe following activities does not increase cash ?
Select correct option:

Increasing current liabilities

Increasing equity

Increasing current assets other than cash pg 163
Decreasing fixed assets

Question # 3 of 15 ( Start time: 11:25:12 AM ) Total Marks: 1
Note: Solve these papers by yourself
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Theincrease in debt financing raises the required return on equity because the risk born
by the investors increases which is called:
Select correct option:
Financial Risk pg 155
Business Risk
Functional Risk
None of the given options

Question #5 of 15 ( Start time: 11:27:05 AM ) Total Marks: 1
What will happen to cash cycleif payable period is lengthened ?
Select correct option:

Cash cycle increases

Cash cycle decreases 167

Cash cycle remain unaffected

Cash cycle has to do nothing with payable period

Question # 6 of 15 ( Start time: 11:28:03 AM ) Total Marks: 1

Which of the following M&M propositions states that jitis completely irrelevant how a
firm chooses to arrange its finances ?

Select correct option:

1st proposition pg 153

2nd proposition

3rd proposition

None of the given options

Question # 7 of 15 ( Start time: 11:29:12 AM ) Total Marks:. 1

The total market value ofia company’ s stocks s calculated as Rs. 250 million and the
total market value of the.company’ s debt are calculated as Rs. 150 million. What percent
of the firm’s finaneing,i's equity ?

Select correct option:

33.33%

50.00%

62.50%

85.00%

=250+150=400
250/400=62.5equity and remaining 37.5 is debt

Question # 8 of 15 ( Start time: 11:30:35 AM ) Total Marks: 1
Which of the following is referred as the ratio of the standard deviation of a distribution
to the mean of that distribution ?

Note: Solve these papers by yourself
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Select correct option:
Probability distribution
The expected return
The standard deviation
Coefficient of variation

Question # 10 of 15 ( Start time: 11:32:28 AM ) Total Marks: 1
Cash cycle=
Select correct option:

Inventory period — accounts receivable period
Inventory period + accounts receivabl e period
Inventory period + account payable period
Operating cycle —accounts payable period pg 165

Question # 12 of 15 ( Start time: 11:33:22 AM ) Total Marks: 1

According to which of the following theory, the firm's capital/structure is determined by a
trade-off of the value of tax shields against the costs of bankruptcy.

Select correct option:

M&M Proposition

Modern theory of bankruptcy costs

Static theory of capital structure not sure

Dividend growth theory

Question # 13 of 15 ( Start time: 11:34:55/AM') Total Marks: 1
The cost of common equity for afirmis:

Select correct option:

The required rate of return ondhe'company's stock

The yield to maturity on the bond

Therisk-freerate

The market risk premitim

Question # 14 of 16 ( Start time: 11:36:17 AM ) Total Marks: 1

Standard deviations for Investment A and Investment B are 25% and 12% respectively.
Thisindicéatesthat :

Select.gorrect option:

Investment A isless volatile than Investment B

Investment B is equally volatile to Investment A

Investment A is morevolatile than Investment B

Investment B is more volatile than Investment A

Question # 1 of 15 ( Start time: 11:42:21 AM ) Total Marks: 1

Which of the following is the time between receipt of inventory and payment for it ?
Select correct option:

Operating Cycle

Note: Solve these papers by yourself
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Cash Cycle
Current Cycle
None of the given options pg 165

Question # 4 of 15 ( Start time: 11:47:38 AM ) Total Marks: 1

Which of the following is the overall return the firm must earn on its existing assetsto
maintain the value of the stock?

Select correct option:

IRR (Internal Rate of Return)

MIRR (Modified Internal Rate of Return)

WACC (Weighted Aver age Cost of Capital) 146

AAR (Average Accounting Return)

Question #5 of 15 ( Start time: 11:49:02 AM ) Total Marks._ 1

What will happen to cash cycleif inventory and receivabl e periods get longer ?
Select correct option:

Cash cycleincreases pg 167

Cash cycle decreases

Cash cycle remain unaffected

Cash cycle has to do nothing with inventory @ndsrecei vabl e periods

Standard deviationsfor I nvestment A"and bnvestment B are 15% and 32%
respectively. Thisindicatesthat :

Select correct option:

Investment A is more volatilethan Investment B

Investment A is equally volatile tolnvestment B

Investment B is less volatile than Investment A

Investment B is morevolatilethan I nvestment A

Question # 9 of, 15 ( Start time: 11:52:21 AM ) Total Marks: 1

Which of the follewing term refers to the use of personal borrowing to alter the degree of
financia leverage ?

Select gorrect option:

Un-levering

Homemade leverage pg 151

Levering

Loaning

Question # 10 of 15 ( Start time: 11:53:13 AM ) Total Marks: 1

Which of the following is the return that firm’s creditors demand on new borrowings ?
Select correct option:

Cost of debt pg 143

Note: Solve these papers by yourself
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Cost of preferred stock
Cost of common equity
Cost of retained earnings

Question # 13 of 15 ( Start time: 11:55:21 AM ) Total Marks: 1

A firm’s equity isworth 4 million and its debt is worth 2 million. What is the percentage
of firm’sfinancing that is equity ?

Select correct option:

20%

33%

40%

67%

4+2=6

4/6=0.67

Question # 14 of 15 ( Start time: 11:56:50 AM#4) Total Marks: 1

Under what situation, we can safely say that one eapital-structure is better than the other ?
Select correct option:

If it resultsin a higher weighted average cest of capital

If it resultsin alower weighted aver age cost of capital pg 149

If it resultsin alower value of thefirm

Capital structure has to do nothing with weighted average cost of capital

Fifished last quiz of acc 501
Good byeall V U students

Badal pe chalta hu mai
Ghirta sambhalta hu mai
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Jaga na soya hu mai
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Starting lec 1to 35 Date : 19-jan-2011

Question #5 of 15 ( Start time: 10:55:09 PM )

Total Marks: 1

Suppose mar ket value exceeds book value by Rs. 200,000. What will be the after-tax
proceedsif

thereisatax rate of 35 percent ?

Select correct option:

Rs. 97,500

Rs. 105,600
Rs. 130,000
Rs. 150,000

200000* 35%=70000
200000-70000=130000

Question # 9 of 15 ( Start time: 02:23:24 PM ) Tetal Marks: 1

In which type of projects, the unequal lives of‘the projects do affect the analysis ?
Select correct option:

Mutually exclusive

Dependent

Independent

Correlated

Mr. Naveed has bought 100 shares of a corporation one year ago at Rs. 23 per share.
Over thelast year, he received'a dividend of Rs. 1.50 per share. At the end of the year,
the stock sellsfor Rs. 31."As per given information, what will be histotal percentage
return ?

Select correct-option:

10.63%

20.20%

35.12%

41.30%

First find dividend yield then capital gain yield then plus both answer

Let see

Dividend yield= 1.50/23=0.06521%

Capital gain yield =(31-23)/23=0.3478%

Total percentage return 0.06521+0.3478*100=41.30

Note: Solve these papers by yourself
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The book value of asystem is Rs. 35,500 at the end of year 4 of itslife. What will be the
total after-tax cash flow from sale if we sell this system for Rs. 20,000 at this time? (Tax
rate is 35%)

Select correct option:

Rs. 15,000
Rs. 15,220
Rs. 20,327
Rs. 25,425

Which one of the following statement is INCORRECT regarding MACRS depreciation ?
Select correct option:

Every asset is assigned to a particular class which establishes asset’ s life for tax purposes.
Depreciation is computed for each year by multiplying the cost'ef the asset by a fixed
percentage.

Annual depreciation remains constant every year even by using different rates.

The expected salvage value and the actual expected/economic life are not explicitly
considered in calculation of depreciation.

Total portfolio risk isequal to:
Select correct option:

systematic risk plus non-diversifiable risk
unsystematic risk plus diversifiable risk
systematic risk plus market risk
systematic risk plus diversifiable risk

Mr. Nadeem has bought 100 shares of a corporation one year ago at Rs. 22 per share.
Over thelast year; heréceived a dividend of Rs. 2.50 per share. As per given information
what will be thedividend yield ?

Select correttwoption:

9.92%

11.36%
21.12%
40.00%

d.y= 2.50/22=0.1136%

Question # 1 of 15 ( Start time: 09:05:41 PM ) Total Marks: 1

Note: Solve these papers by yourself
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Which of the following type of risk can be eliminated by diversification ?
Select correct option:
Systematic Risk
Market Risk
Unsystematic Risk
None of the given options

Which of the following is the return that firm’s creditors demand on new borrowings ?
Select correct option:

Cost of debt

Cost of preferred stock

Cost of common equity

Cost of retained earnings

None of the given options

What will be the risk premium for a stock that has an expected feturn rate of 14% and a
risk-free rate of 5% ?
Select correct option:
6 %
9%
15%
24%
14-5=9

Which of the following is NOT an‘example of systematic risk ?
Select correct option:

Interest Rate

Inflation

Strike call in a company

Gross Domestic Product

Y our gain (ord@ss)\on an investment that you buy is called your :
Select correttwoption:
Risk on.dnvestment
Return on investment
Gain ominvestment
loss on investment

Standard Company purchased a vehicle for Rs. 450,000. Based on historical averages,
this vehicleis worth 25% of the purchase price now and it is being sold at this price.
What is the vehicle' s market value ?

Select correct option:

Note: Solve these papers by yourself
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Rs. 14,875

Rs. 112,500
Rs. 337,500
Rs. 230,000

Question # 3 of 15 ( Start time: 05:24:09 PM ) Total Marks: 1

ABC Corporation has two sharehol ders; Mr. Aamir with 50 shares and Mr. Imran with 70
shares. Both want to be elected as one of the four directors but Mr. Imran doesn’t want
Mr. Aamir to be director. How much votes would Mr. Aamir be able to cast as per
cumulative voting procedure?

Select correct option:

70

120

200

280

4*50=200

Question # 4 of 15 ( Start time: 05:25:30 PM ) Total Marksy'1

In MACRS property classes, 7-year class inclideswhichwof the following ?
Select correct option:

Equipment used in research

Autos & computers

Most industrial equipment

All of the given options

Question # 5 of 15 ( Start time: 05:26:42 PM ) Total Marks: 1

Standard deviations for Investment A and Investment B are 15% and 32% respectively.
Thisindicates that :

Select correct option:

Investment A is moreyaolatile than Investment B

Investment A is equally volatile to Investment B

Investment B'isléss volatile than Investment A

Investment B is more volatile than Investment A

Question #6 of 15 ( Start time: 05:27:45 PM ) Total Marks: 1
Systematic Risk isalso known as :

Select correct option:

Diversifiable Risk

Market Risk

Residua Risk

Asset-specific Risk

Question # 7 of 15 ( Start time: 05:28:20 PM ) Total Marks: 1
Note: Solve these papers by yourself
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A project has an initial investment of Rs. 600,000. What would be the NPV for the
project if it has a profitability index of 1.12?
Select correct option:
Rs. 40,000
Rs. 55,000
Rs. 65,000
Rs. 72,000

600000* 1.12=672000

672000-600000=72000

Question # 8 of 15 ( Start time: 05:29:04 PM ) Total Marks: 1
Unsystematic Risk isalso known as :

Select correct option:

Diversifiable Risk

Market Risk

Non-diversifiable Risk

Question #9 of 15 ( Start time: 05:29:57 PM ), Total"Marks: 1

Which of the following is NOT included in disceuntéd cash flow criteria for capital
budgeting decision?

Select correct option:

Payback Period
Net Present Value

Profitability Index
Internal Rate of Return

Question # 10 of 15 (Start,time: 05:30:21 PM ) Total Marks: 1
Which of the followingis NOT aquality of IRR?

Select correct option:

Most widely, used

Idedl to rank the mutually exclusive investments

Easily eommunicated and understood

Candoe estimated even without knowing the discount rate

Question # 11 of 15 ( Start time: 05:30:58 PM ) Total Marks: 1

Which of the following is known as the group of assets such as stocks and bonds held by
an investor ?

Select correct option:

Stock Bundle

Portfolio

Capital Structure

Note: Solve these papers by yourself
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None of the given options

Question # 12 of 15 ( Start time: 05:31:49 PM ) Total Marks: 1

Which of the following set of cash flows represent the change in the firm’stotal cash
flow that occurs as direct result of accepting the project ?

Select correct option:

Relevant Cash Flows
Incremental Cash Flows
Negative Cash FHows
All of the given options

Question # 14 of 15 ( Start time: 05:32:39 PM ) Total Marks: 1

What would be the standard deviation of returns for an investment thatshas a variance of
0.0075?

Select correct option:

0.08660

0.09101

0.09487

0.10521

Question # 15 of 15 ( Start time: 05:33:12¢M ) Total Marks: 1

Investors demand a higher yield as compensation to the risk of possible default. This
extra premium is called:

Select correct option:

Interest rate risk premium

Inflation risk premium

Default risk premium

Taxability premium

Question # 1 of 15,( Start time: 03:08:45 PM ) Total Marks: 1

What will be the'¢ash inflow if we have sales of Rs. 400,000 and accounts receivable are
decreasedby Rs..70,000 ?

Select.gorrect option:

Rs. 70,000

Rs. 230,000

Rs. 330,000 not sure

Rs. 470,000

Question # 4 of 15 ( Start time: 03:11:23 PM ) Total Marks: 1
The relationship between real and nominal returns is described by the:

Select correct option:
M&M Proposition

Note: Solve these papers by yourself
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Capital Asset Pricing Mode
Fisher’s Effect
BCG Matrix

Question # 5 of 15 ( Start time: 03:12:03 PM ) Total Marks: 1

Which of the following set of cash flows should be considered in the decision at hand?
Select correct option:

Relevant Cash Flows

Incremental Cash Flows

Negative Cash Hows

All of the given options

Question # 6 of 15 ( Start time: 03:13:39 PM ) Total Marks: 1
What will be the real rate if the nominal rate is 14% and the inflation rate is 6%6?
Select correct option:
6.02%
7.55%
10.0%
14.3%
(1+r)/(1+h)
1.14/1.06=1.07
1.07*100=107.55
107.55-100=7.55

Question # 10 of 15 ( Start time: 03;16:02'PM ) Total Marks: 1

The total market value of a company*sstocksis calculated as Rs. 250 million and the
total market value of the company’s debt are calculated as Rs. 100 million. What percent
of the firm’sfinancing isdebt ?

Select correct option:

28.57%

50.00%

62.50%

70.00%

250/350* 100-100=28.57

Question# 13 of 15 ( Start time: 03:18:22 PM ) Total Marks: 1

Which of the following is referred as a statistical measure of the variability of a
distribution around its mean ?

Select correct option:

Probability distribution

The expected return

The standard deviation

Coefficient of variation

Note: Solve these papers by yourself
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Question # 14 of 15 ( Start time: 03:19:51 PM ) Total Marks: 1

A set of possible values that a random variable can assume and their associated
probabilities of occurrence arereferred as:

Select correct option:

Probability distribution

The expected return

The standard deviation

Coefficient of variation

Question # 15 of 15 ( Start time: 03:21:16 PM ) Total Marks: 1

A project whose acceptance does not prevent or require the acceptance of oneor more
alternative projectsis referred to as a(n):

Select correct option:

mutually exclusive project

independent project

dependent project

contingent project

Question # 1 of 15 ( Start time: 02:04:33 PM ) Teta Marks: 1

Which of the following is the most common eapitalybudgeting technique?
Select correct option:

Payback Period

Net Present Value

Internal Rate of Return

Profitability Index

Question # 2 of 15 ( Start time: 02:05:04 PM ) Total Marks: 1

While performing the feasibility analysis for a project, an operating cash flow of Rs.
500,000 has been cal culated. Net working capital has declined by Rs. 45,000. There was
no capital spending durfing the year. What will be the total cash flow for the project ?
Select correct.option:

Rs. 200,000

Rs. 315,000

Rs. 455,000

Rs. 545,000

Question # 3 of 15 ( Start time: 02:05:57 PM ) Total Marks: 1

Which of the following formulais used to calculate the price of a zero growth stock?
Select correct option:

Po=D/R

Po=Do(1+g)/R

Po=Do(1+g) / (R—g)

Note: Solve these papers by yourself
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Po=D1/ (R -g)

Question # 4 of 15 ( Start time: 02:07:26 PM ) Total Marks: 1

Which of the following statement is NOT correct regarding cost of preferred shares ?
Select correct option:

Preferred stock has fixed dividend paid every period forever

Fixed dividend paid every period makes preferred stock a perpetuity

Cost of preferred stock can be estimated by using firm’s bond ratings

Cost of preferred stock can be estimated by observing the required return on other
similarly rated shares of preferred stock

Question #5 of 15 ( Start time: 02:09:00 PM ) Total Marks: 1
IRR and NPV rules dways lead to identical decisions aslong as:
Select correct option:

Cash flows are conventional

Cash flows are independent

Cash flows are both conventional and independent

None of the given options

Question # 6 of 15 ( Start time: 02:09:28 PM )T ota Marks: 1
paid by corporation istax deductible but paid are not tax
deductible.
Select correct option:
Interest; dividend
Dividend; interest
Bonus; interest
None of the given options

Question # 8 of 15 ( Starttime;, 02:10:43 PM ) Total Marks: 1

Which one of the following costs refers to an outlay that has already occurred and hence
is not affected by thexdecision under consideration ?

Select correct option:

Sunk

Opportunity

Fixed

Variéble

Question # 10 of 15 ( Start time: 02:11:32 PM ) Total Marks: 1
Suppose the initia investment for a project is Rs. 16 million and the cash flows are Rs. 4
million in thefirst year and Rs. 9 million in the second and Rs. 5 million in the third. The
project will have a payback period of:
Select correct option:
2.6 Years
3.1Years

Note: Solve these papers by yourself
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3.7 Years
4.1 Years

Question # 12 of 15 ( Start time: 02:12:30 PM ) Total Marks: 1

Which of the following statement is TRUE regarding Average Accounting Return?
Select correct option:

AAR isarate that makes the NPV equal to zero

Aninvestment is acceptableif its AAR is greater than a benchmark AAR
Aninvestment is acceptableif its AAR isless than abenchmark AAR

None of the given options

Question # 13 of 15 ( Start time: 02:14:04 PM ) Total Marks: 1

Sumi Inc. hasjust paid adividend of Rs. 7 per share. The diwvidend ofithis company
grows at a steady rate of 5% per year. What will be the dividend in Syears?

Select correct option:

Rs. 4.41

Rs. 6.12

Rs. 7.35

Rs. 8.93

5/100=0.05+1=1.05"5=1.2762* 7=8.93

Question # 15 of 15 ( Start time: 02:15:46 PM ) Total Marks: 1

An investment should be accepted ifithe Net Present Vaue (NPV) is and
rejected if itis

Select correct option:

Positive; positive

Positive; negative

Negative; negative

Negative; positive

Endinglec1to 35
19-Jan-02

Armaan.makhani@gmail.com
Date :4-jan-2011
ACC 501 Quiz Conferencelecture 1to 28
ThisMcgsfor Final Term
1. Which of thefollowing isan example of positive covenant?
Select correct option:

Note: Solve these papers by yourself
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Maintaining firm’s working capital at or above some specified minimum level
Furnishing audited financial statements periodically to the lender
Maintaining any collateral or security in good condition

—

Wrong, wrong, wrong question it is unfair discipline

AST Company’sdebt-to-total assetsratiois0.45. What isits debt-to-equity
ratio?

Select correct option:

0.101

0.220

0.667

Reference: (1-0.45=0.55)
=0.45/0.55=0.818
What amount a borrower would pay at the enghof fourth year with a 4-year,
12%, interest-only loan of Rs. 8,000?2
Select correct option:
Rs. 1,360
Rs. 2,000
Rs. 5,625

Reference: 8000* 12/100=8960
4. What will bethe price per shareif thereisa current dividend of Rs. 4.75,
required rate of returmef 12% and growth rate of 5% ?
Select correct option:
Rs. 30.19

Rs. 43.52
Rs. 56.53

Reference: D*1+g/r-g
4.75* (1+0.5/4.75-0.5)=71.25

5. "Algiven rateis quoted as 9 percent APR, but the EAR is9.38 percent. What
isthe compounding period?
Select correct option:
Semiannually
Quarterly

Daily
Reference: (1+APR/m)*m-1

Note: Solve these papers by yourself
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APR=9
M=30
(1+9/30)*30-1=9.38
Mr. Aslam owns 100 shares of a company and there arefour directorsto be
elected. How much votes Mr. Aslam would have as per cumulative voting
procedur e?
Select correct option:
100 votes
200 votes
300 votes

Reference: 100*4=400

7. SNT Corporation has policy of paying a Rs. 6 per sharedividend every year.
If this policy isto continue indefinitely, what will be the value of a shar e of
stock at a 15% required rate of return?

Select correct option:

Rs. 30

Rs. 50
Rs. 60

Reference: 6/0.15=40

8. Which of thefollowingprocess can be defined asthe process of generating
earnings from previousear nings?
Select correct option:
Discounting

Factorization
None of the givien options

9. Which of the following isthe amount of cash we would get if we actually sdll
an asset?
Select correct option:

Book Vaue
Intrinsic Value
None of the given options

10.

Note: Solve these papers by yourself
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11. Which of thefollowing financial statement shows both dollarsand
per centagesin thereport?
Select correct option:
Balance Sheet

Income Statement
Relative Statement of Equity

12.in which form of Business, owners have limited libility.
Select correct option:

sole proprietorship
partnership

none of the above

13. Supposetheinitial investment for asproject is Rs. 16 million and the cash
flowsareRs. 4 million in thefifstyear and Rs. 9 million in the second and

Rs. 5 million in the third. Theproject will have a payback period of:
Select correct option:
2.6 Years

3.7 Years
4.1 Yeas

Whieh,of thefollowing isNOT a shortcoming of Payback Rule?
Select correct option:

Time value of money isignored
It failsto consider risk differences
Simple and easy to calculate

15. When a cor poration wishesto borrow from public on along-term basis, it
does so by issuing or selling:
Select correct option:

Note: Solve these papers by yourself
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Common Stocks
Preferred Stock
All of the given options

16. Treasury notes and bonds ar e examples of which of the following types of
bonds?
Select correct option:

Zero coupon bonds
Floating-rate bonds
Euro bonds

17.When real rateis , all interest rateswill tend to be .
Select correct option:

Low; higher
High; lower

None of the given options

Which of the following statementsis(are) CORRECT regarding a bond?
Select correct option:

A bond is an evidence of debt issued by a corporation or a governmental body.

A bond representsialoan made by investors to the issuer.

When a corporation wishes to borrow from public on along term basis, it does so
by issuinglor selfing bonds.

19. Between the two identical bonds having different coupon, the price of the
bond will change lessthan that of bond.
Select correct option:

Higher-coupon; lower-coupon
Lower-coupon; higher-coupon

None of the given options

Note: Solve these papers by yourself
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20. Asthedividend is always samefor a zer o growth stock, so the stock can also
beviewed as:
Select correct option:

Ordinary Annuity
Annuity Due

None of the given options

21. The coupon rate of a floating-rate bond is capped and upper @and lower rates
arecalled:
Select correct option:

Float

Limit
Surplus

22. Internal Rate of Return (IRR)is sametimesreferred to as.
Select correct option:

Simple Interest Rate
Compound Interest Rate

Required Rate of Return

23. If thedividend for a shareisgrowing at a steady rate then which of the

following formula(s) can be used to find the dividend in two periods?
Select’carrect option:

D2=D1x(1+g)
D2=Dox(1+g)2
D2=Dox(1+g)2
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24. A project whose acceptance does not prevent or requir e the acceptance of

oneor more alternative projectsisreferred to as a(n):
Select correct option:

independent project
dependent project
contingent project

25. A project hasan initial investment of Rs. 600,000. What would.be the NPV
for the project if it has a profitability index of 1.127?
Select correct option:

Rs. 40,000
Rs. 55,000
Rs. 65,000

Refer ence=600000* 1.12=672000-600000=72000

26. Which of thefollowing statement,is TRUE regarding debt?
Select correct option:

Debt is an ownership interest'ifthe firm.

Debt provides the voting rightSto the bondhol ders.
Corporation’s payment 'of'interest on debt is fully taxable.

27.1f afirm isallowed to missa coupon payment on a bond in ayear in which it
repor tsan operating loss, the bond is most likely a(n) bond.
Select correct option:

Zero coupon
Floating-rate
Put

28. A covenant limitsor prohibits actionsthat company might take.

Note: Solve these papers by yourself
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Select correct option:

Positive

Neutral
None of the given options

29. IRR and NPV rulesalways lead to identical decisionsaslong as:
Select correct option:

Cash flow s are conventiona
Cash flow s are independent

None of the given options

30. Which of thefollowing allows a companyito r epur chase part or all of the
bond issue at a stated price?
Select correct option:
Repayment
Seniority

Protective covenants

31. Which of the follawing isNOT a quality of IRR?
Select corregt option:
M ostAwidely:used

Easily communicated and understood
Can be estimated even without knowing the discount rate

32. m which type of the market, previously issued securities aretraded among
investor s?
Select correct option:
Primary Market

Tertiary Market
None of the given options

Note: Solve these papers by yourself
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33. A model which makes an assumption about the future growth of dividendsis
known as:
Select correct option:
Dividend Price Modd

Dividend Policy Model
All of the given options

34. Which of thefollowing representsthelinear relation between Net Present
Value (NPV) and Profitability Index (P1)?
Select correct option:
If Profitability Index > 1, NPV is Negative (-)
If Profitability Index < 1, NPV is Pogitive (+)

If Profitability Index > 1, NPV is Zero (0)

35. Which of the following comes under the head of discounted cash flow criteria
for capital budgeting decisions?
Select correct option:
Payback Period

Average Accounting Return

36.
Which of the followingis NO¥F included in discounted cash flow criteria for
capital budgeting decisien?
Select correct option:

Net Present\Vaue
Profitability“l ndex
Internal Rate of Return

37. Which of thefollowing isan example of positive covenant?
Select correct option:

Limiting the amount of dividend according to some formula
Restricting pledging assets to other lenders
Barring merger with another firm

38. Which of the following isthe most common capital budgeting technique?
Select correct option:

Payback Period

Note: Solve these papers by yourself
This VU & ) : ble f, ved rent
www.vuaskari.com



Composed & Solved
Armaan Makhani
Vu Askari Team
www.vuaskari.com

Internal Rate of Return
Profitability Index

Which of thefollowing measuresthe present value of an investment per
dollar invested?
Select correct option:

Net Present Value (NPV)

Average Accounting Return (AAR)

Internal Rate of Return (IRR)

Which of the following is a measur e of accounting profit relativeto the book
value?
Select correct option:

Net Present Vaue

Profitability Index

Internal Rate of Return

41. Which one of the following typically“appliesto preferred stock but not to

common stock?
Select correct option:
Dividend yield

Voting rights
Tax deductible dividends

42. Treasury notes and bonds ar e examples of which of the following types of
bonds?
Select corfect option:

Zexo coupon bonds
Floating-rate bonds
Euro bonds

43. Expectation of a_____inflation ratewill push longterm interest rates
than short term rates reflected by an upward term structure.
Select correct option:
Lower; higher
Higher; lower

None of the given options

Note: Solve these papers by yourself
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A company issues bondswith a Rs. 1,000 face value. What isthe coupon rate
if the coupon payments of Rs. 60 are paid every 6 months?
Select correct option:

3 percent

6 percent

9 percent

60+60=120/1000=12%

45. The projected cash flowsfrom a project are: Year 1: Rs. 100 Y.ear 23 RS. 300
Year 3: Rs. 400 Year 4: Rs. 800 The Project cost isRs. 800. What would be
the payback period for the project?

Select correct option:
2.00 Years
2.67 Years

3.67 Years
Prdoj ect=800 paid in 1 year=100, 2" year=300 and 3" year =400 total 800 paid in
3%year

In which of the following type of annuity, cash flows occur at the beginning of
each period?
Select correct option:

Ordinary annuity

Perpetuity
None of the given options

46. Which ofthe following isNOT an important featur e of treasury notes and
bonds?
Sel eCteorrect option:
Default free
Taxable

Highly liquid

Which of thefollowing isNOT a deter minant of term structure?
Select correct option:
Real rate of interest

Expected inflation

Note: Solve these papers by yourself
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Interest rate risk

47. Which of the following isthe amount of timerequired for an investment to
gener ate cash flows sufficient to recover itsinitial cost?
Select correct option:
Yield to maturity
Maturity Period

Accounts Receivable period
m.q .z

48. In which type of the market, securitiesare originally sold\to the investors?
Select correct option:

Secondary Market
Tertiary Market
None of the given options

49. A isan agent who arranges security transactions among investors.
Select correct option:

Dealer
Member
Specialist
volatile
50. Which of the folloawing is a characteristic of preferred stock?
Select corregt option:
These stoeks have not stated liquidating value

Thesesbonds hold credit ratings quite different from bonds
These stocks have not any kind of priority over common stocks

51. Which of thefollowing type of bond pays no coupon at all and are offered at
apricethat ismuch lower than its stated value?
Select correct option:
Government bonds

Note: Solve these papers by yourself
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Floating-rate bonds
Euro bonds

An investment will be if theRR doesn’t exceedstherequired
return and otherwise.

Select correct option:

Accepted; rejected

Accepted; accepted

Rejected; rejected

Which of the following comes under the head of accountingcriteria for
capital budgeting decision?

Select correct option:

Payback Period

Net Present Value

Profitability Index

54. Which of thefollowing is a series of €enstant cash flows that occur at the end
of each period for some fixed number of periods?
Select correct option:

Annuity due
Perpetuity
None of the given options

55. Which of the fallewing term refersto the differ ence between the present
value of eash inflows and the present value of cash outflows?
Sel ect-€orrect option:
NetPresent Value (NPV)
Average Accounting Return (AAR)
Internal Rate of Return (IRR)
Profitability Index (PI)

56. One would be indifferent between taking and not taking the investment
when:
Select correct option:
NPV is greater than Zero

pg 104 doubt ask question in mdb

Note: Solve these papers by yourself
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NPV islessthan Zero
All of the given options

57. Which one of thefollowing termsreferstotherisk arisesfor bond owners
from fluctuating inter est rates?
Select correct option:

Fluctuations Risk

Real -Time Risk
Inflation Risk

All else equal, the market value of a corporate bond is always inver sely
related to its:
Select correct option:

Time to maturity
Coupon rate
Yield to maturity

Made By Armaan M akhani
Armaan.makhani@gmail.com
Date :25-11-2010
ACC50LQuiz Conference lecture1to 18
ThisMcgsfor Midterm

59. Which of the fallewing issueisNOT covered by “Investment” area of
finance?
Sel ect-€orrect option:

Best mixture of financial investment

I nternational aspects of corporate finance
Associated risks and rewards

Pricing financial assets

60. Period costsinclude which of the following?

Select correct option:

Raw material

Note: Solve these papers by yourself
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Direct labor
Manufacturing overhead

61. Product costsinclude which of the following?
Select correct option:

Selling expenses
General expenses

Administrative expenses

62. Financial policy is evaluated by which of the following?
Select correct option:

Profit Margin
Total Assets Turnover

None of the given options

Cash flow from assets involves which of, the following component(s)?
Select correct option:

Operating cash flow
Capital spending
Change in net working capital

64. Which of thefollowing refersto the cash flows that result from thefirm’s
day-to-day activities 6f producing and selling?
Select corregt option:

Operating Cash Flows
Investing Cash Flows
Financing Cash Hows
Allof the given options

Financeisvital for which of the following business activity (activities)?
Select correct option:

Marketing Research
Product Pricing
Design of marketing and distribution channels

Note: Solve these papers by yourself
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66. Which of thefollowing costs ar e reported on the income statement asthe cost
of goodssold?
Select correct option:

Product cost
Period cost

Neither product cost nor period cost

Standard Company had net sales of Rs. 750,000 over the past year. During
that time, average receivables were Rs. 150,000. Assuming a 865-day year,
what was the aver age collection period?

Select correct option:

5 days
36 days
48 days

68. Which of thefollowing term§yr efersto the use of debt financing?
Select correct option:

Operating Leverage

Manufacturingd everage
None of thegivenoptions

69. I n whi€h,type of market, new securities are traded?
Sel eCteorrect option:

Secondary market
Tertiary market
None of the given options

70. Which of thefollowing ratios are particularly interesting to short-term
creditors?
Select correct option:

Note: Solve these papers by yourself
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Liquidity Ratios

Long-term Solvency Ratios
Profitability Ratios

Market Vaue Ratios

shows the sour ces from which cash has been generated and how it has been
spent during a period of time?
Select correct option:

Balance Sheet
Cash FHow Statement
Owner’s Equity Statement

Standard Corporation sold fully depreciated equipment for Rs. 5,000. This
transaction will be reported on the cash flow statement as a(n):
Select correct option:

Operating activity
Investing activity
Financing activity
None of the given options

me: Quick Ratio is also known as.
Select correct option:

Current Ratio
Acid-test Ratio
Cash Ratio

of the folfowing'statement measur es performance over a specific period of
time?
Sel eCteorrect option:

[ffe@me Statement

Balance Sheet

Cash Fow Statement
Retained Earning Statement

Which of the following statement shows assets, liabilities, and net worth as of
a specific date?

Note: Solve these papers by yourself
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Select correct option:

Income Statement
Balance Sheet

Owner’s Equity Statement
Cash Flow Statement

76. A portion of profits, which a company retainsitself for further expansion; is
known as:
Select correct option:

Dividends

Retained Earnings
Capita Gain

None of the given options

77.Which one of thefollowing isNOT a*iquidity ratio?
Select correct option:

Current Ratio

Quick Ratio

Cash Coverage Ratio
Cash Ratio

78. Which ofthefollowing ratio gives an idea asto how efficient management is
at usingjits.assetsto gener ate earnings?
Select correttwoption:

Profit Mangin
Return‘on Assets
Return on Equity
Total Assets Turnover

79. Which of thefollowing is an example of capital spending?
Select correct option:

Note: Solve these papers by yourself
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Decrease in Net Working Capital
Increase in Net Working Capital
None of the given options

80. Which of the following is measured by profit margin?
Select correct option:

Asset use efficiency
Financial policy
Dividend policy

81. Who of the following make a broader use of accounting infor mation?
Select correct option:

Accountants

Auditors
Marketers

82. Which of thefollowing set ofyratiesis used to assess a business' s ability to
gener ate ear nings as compar edito its expenses and other relevant costs
incurred during a specific period of time?

Select correct option:

Liquidity Ratios
Leverage Ratios
Profitability Ratios

83./Alcompany having a current ratio of 1 will have net working
capital.
Select correct option:

Negative
zero
None of the given options

Note: Solve these papers by yourself
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84. which of thefollowing is not a form of business or ganization
Select correct option:

sole proprietorship
partnership
joint stock company

85. Which of thefollowing ratios are intended to address the firm’sfinancial
lever age?
Select correct option:

Liquidity Ratios

Asset Management Ratios
Profitability Ratios

86. The accounting definition of incomefs.
Select correct option:

Income = Current Assets —Current l«abilities
Income = Fixed Assets— Current Assefs
Income = Revenues — Current Liabilities

87. Which ofthefollowing item(s) is(are) not included while calculating
Oper ating Cash Flows?
Select correttwoption:

Depreciation
Interest
Expenses related to firm’s financing of its assets

88. Suppose mar ket value exceeds book value by Rs. 250,000. What will bethe
after-tax proceedsif thereisatax rate of 34 percent ?
Select correct option:

Note: Solve these papers by yourself
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Rs. 105,600
Rs. 148,500
Rs. 165,000
Rs. 225,000

89. When a cor por ation wishesto borrow from public on along-term basis, it
does so by issuing or sdling:
Select correct option:

Debt securities or bondslec 17
Common Stocks

Preferred Stock

All of the given options

90. In which type of market, used securitiesaretraded?
Select correct option:

Primary market
Secondary mar ket
Tertiary market

None of the given options

91. Who of thefollowing make a broader use of accounting information?
Select correct option:

Accountants

Financjal X nalystslec 2
Auditors

Marketers

92. Which of thefollowing is (are) a non-cash item(s) ?
Select correct option:

Revenue
Expenses

Note: Solve these papers by yourself
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All of the given options

93. What will bethe coupon value of a Rs. 1,000 face-value bond with a 10%
coupon rate?
Select correct option:

Rs. 510
Rs. 1,000
Rs. 1,100

Solution:
=1000/10
=100

94. Which of thefollowing comes under the head of discounted cash flow criteria
for capital budgeting decisions?
Select correct option:

Net Present Value
Average Accounting Return
None of the given options

95. Period costs include which ofsthe following?
Select correct option:

Raw material
Direct labor
Manufacturing‘everhead

96. The value of net working capital will be greater than zero when:
Select correct option:

Current Assets < Current Liabilities
Current Assets = Current Liabilities
None of the given options

Note: Solve these papers by yourself
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97. Accor ding to Du Pont Identity, ROE is affected by which of the following?
Select correct option:
Operating efficiency
Asset use efficiency
Financia Leverage

98. Which of thefollowing issueisNOT covered by “Investment” area of
finance?
Select correct option:
Best mixture of financia investment

Associated risks and rewards
Pricing financial assets

99. Standard Cor poration sold fully depreciated equipment for Rs. 5,000. This
transaction will be reported on the cash flow statement as a(n):
Select correct option:

Investing activity
Financing activity
None of the given options

Balance sheet for .aicompany reports current assets of Rs. 700,000 and
current liabilities of Rs.460,000. What would be the Current Ratio for the
company if thereis antinventory level of Rs. 120,0007?

Select correct option:
1.01
1.26
1.39

101. In which type of business, all ownerssharein gainsand losses and all
have unlimited liability for all business debts?
Select correct option:
Sole-proprietorship
pg 6
Limited Partnerhsip
Corporation
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102. afirm uses cash to purchaseinventory, its current ratio will:

Select correct option:

Increase

Decrease

Become zero
103. Which of thefollowing is a special case of annuity, wherethe stream

of cash flows continues forever?
Select correct option:

Specia Annuity
Annuity Due
Perpetuity

104. Which of thefollowing is an example of positive covenant?
Select correct option:

Limiting the amount of dividend(aceerding to some formula
Restricting pledging assets to@thef lenders
Barring merger with anotherfirm

105. Which of thefellewing refersto the difference between the sale price
and cost of inventory?
Select correct option:
Net loss
Net worth
Markup
Markdewn

106. Which of the following allows a company to repurchase part or all of
the bond issue at a stated price?
Select correct option:
Repayment
Seniority

Protective covenants

Note: Solve these papers by yourself
This VU & s not ble ved content
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107. shows the sour ces from which cash has been generated
and how it has been spent during a period of time?
Select correct option:
Income Statement
Balance Sheet
Cash Flow Statement
Owner’s Equity Statement

108. Which of thefollowing is a cash flow from financing activity?
Select correct option:
Cash outflow to the government for taxes

Cash outflow to lenders as interest
Cash outflow to purchase bonds issued by another company

109. Which of thefollowing for m of business opganization is least
regulated?
Select correct option:

Generd Partnership
Limited Partnership
Corporation

110. The principal ameunt ofya bond at issueis called:
Select correct option:

Coupon vaue
Present value of an annuity
Present value of\atump sum

111. Which of thefollowing relationships holds TRUE if abond sellsat a
discount?
Select correct option:
Bond Price < Par Valueand YTM > coupon rate
Bond Price > Par Value and YTM > coupon rate
Bond Price > Par Valueand YTM < coupon rate
Bond Price < Par Valueand YTM < coupon rate

112. When a cor poration wishesto borrow from public on along-term
basis, it does so by issuing or selling:
Select correct option:

Note: Solve these papers by yourself
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Common Stocks
Preferred Stock
All of the given options

113. Which of thefollowing item providestheimportant function of

shielding part of income from taxes?
Select correct option:

Inventory
Supplies
Machinery
Depreciation

114. A firm reportstotal liabilities of Rs. 300,000,and owner’s equity of Rs.

500,000. What would be the total worth of the firm’s assets?
Select correct option:

Rs. 300,000
Rs. 500,000
Rs. 800,000
Rs. 1100,000

115. Which of the follewingfor ms of business organizationsis created as a

distinct legal entity owned by one or more individuals or entities?
Select correct option:

Sole-proprigtorship
Generd Partnership
Limited\Rartnership
CoMgaltion

Lb. in which form of Business, owners have limited libility.

Select correct option:

sole proprietorship
partnership

joint stock company
none of the above

Note: Solve these papers by yourself
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Which of the following equation is known as Cash Flow (CF) identity?
Select correct option:
CF from Assets = CF to Creditors— CF to Stockholder
CF from Assets = CF to Stockholders — CF to Creditors
CF to Stockholders = CF to Creditors + CF from Assets

118. The difference between current assets and current liabilitiesis known
as:
Select correct option:
Surplus Asset
Short-term Ratio

Current Ratio

1109. A borrower isableto pay Rs. 40,000 in S%ear s./Given a discount rate
of 12 percent, what amount of money the |lender, should lend?
Select correct option:
Rs. 14,186
Rs. 18,256

Rs. 28,253

solution

120. Which ofthe following statement is consider ed asthe accountant’s
snapshot of fi'm’ s accounting value as of a particular date?
Select correttyoption:
Income Statement

Cash Flew Statement
Retained Earning Statement

121. The principal amount of a bond at issueis called:
Select correct option:

Coupon vaue
Present value of an annuity
Present value of alump sum

Note: Solve these papers by yourself
This VU & s not ble ved content



Composed & Solved
Armaan Makhani
Vu Askari Team

www.vuaskari.com
122. Which of the following statement about bond ratingsis TRUE?
Select correct option:
Bond ratings are typically paid for by a company’ s bondholders.
Bond ratings are based solely on information acquired from sources other than the
bond issuer.
Bond ratings represent an independent assessment of the credit-worthiness
of bonds.
None of the given options

123. Which of the following isthe acronym for GAAP?
Select correct option:
Generdly Applied Accountability Principles
Generd Accounting Assessment Principles
Generally Accepted Accounting Principles
Generd Accepted Assessment Principles

124, Which of thefollowing isNOT an internal use of financial statements
information?
Select correct option:
Planning for the future through histORg ihfor¥ation
Evaluation of performance through profit margin and return on equity
Evauation of credit standing of new ‘custemer
None of the given options

125. A firm has paid out Rs3150,000 as dividends from its net income of
Rs. 250,000. What isthe retention ratio for the firm?
Select correct option:
12%
25 %
40 %
60 %

Solution

A company having a current ratio of 1 will have net working capital.
Select correct option:

Positive
Negative
Zero
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None of the given options

126. A portion of profits, which a company distributes among its
shareholders, is known as.
Select correct option:

Retained Earnings
Capital Gain
None of the given options

Which of the following is(are) the basic area(s) of Finance?
Select correct option:

Financial institutions
International finance
Investments

28IV hich of the following ratios iSINOT from the set of Asset
M anagement Ratios?
Select correct option:

Inventory Turnover Ratio
Receivable Turnover
Capita Intensity Ratio

129. Y ougust wen a prize, you can either receive Rs. 1000 today or Rs.
1,050 in ehe year. Which option do you prefer and why if you can earn 5
per centy@n'\your money?

Sel eGtvcorrect option:

Rs. 1,000 because you receive it sooner
Rs. 1,050 because it is more money
Either because both options are of equal value

130. Which of thefollowing termsrefersto the use of debt financing?
Select correct option:

Operating Leverage
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Manufacturing Leverage
None of the given options

131. You need Rs. 10,000 to buy a new television. If you have Rs. 6,000 to
invest at 5 percent compounded annually, how long will you have to wait to
buy thetelevision?

Select correct option:

8.42 years

15.75 years

18.78 iears

132. Which of thefollowing isan example of pesitive covenant?
Select correct option:

Furnishing audited financia statementsperiadically to the lender
Maintaining any collateral or securitysin'good condition
Restricting selling or leasing asséts

Which of the following is'measured by retention ratio?
Select correct option:

Operating efficiency
Asset use efficiency
Financia policy

134, Which of the following statement shows assets, liabilities, and net
worth as of a specific date?
Select correct option:

Income Statement
Owner’s Equity Statement

Cash FHow Statement
Armaan: b
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135. Product costsinclude which of the following?
Select correct option:

Selling expenses
General expenses

Administrative expenses

An account was opened with an investment of Rs. 3,000 ten years ago.
The ending balance in the account isRs. 4,100. If interest was compeunded,
how much compounded inter est was ear ned?
Select correct option:

Rs. 500
Rs. 752
Rs. 1,052

137. What isthe effective annual rate of, 7 per cent compounded monthly?
Select correct option:

7.00 per cent

7.19 percent
7.23 percent

138. Which.of the following cash flow activitiesarereported in the Cash
Flow Statement and Income Statement?
Select corfect option:

Operating Activities
Investing Activities
Rimancing Activities
All of the given options

139. Which of the following term refersto establish of a standard to follow
for comparison?
Select correct option:

Standardizing
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Comparison
Evaluation

140. Which of the following is measured by profit margin?
Select correct option:

Asset use efficiency
Financial policy
Dividend policy

141. Ruleof 72 for finding the number of periodsisfairly applicableto
which of the following range of discount rates?
Select correct option:

2% to 8%
4% to 25%

10% to 50%

142. Which of the following refersto a conflict of interest between
principal and agent?
Select correct option:

Management Conflict
Interest Conflict

None of the given'options

143. Which ofithe following isa series of constant cash flowsthat occur at
the endef each period for some fixed number of periods?
Sel eCteorrect option:

Annuity due
Perpetuity
None of the given options

144, Which of thefollowing area of finance deals with stocks and bonds?
Select correct option:

Financia institutions
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International finance
| nvestments
All of the given options

145. 7:03 AM Which of thefollowing isNOT an external use of financial
statements information?
Select correct option:

Evaluation of credit standing of new customer

Evaluation of financial worth of supplier

Evaluation of potential strength of the competitor

Evaluation of performance through profit margin and return on equity

146. Which of thefollowing is(are) the basic area(s) of [Finance?
Select correct option:

Financial institutions
International finance
Investments

All of the given options

147. If afirm hasa ROA of 8 pereent; sales of Rs. 100,000, and total assets
of Rs. 75,000. What is the profit/imargin?
Select correct option:

4.30%
6.00%
10.70%
16.73%
solution

148: Which of thefollowing isthe process of planning and managing a
firm’slong-term investments?
Select correct option:

Capital Structuring
Capita Rationing
Capital Budgeting
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149. Which of thefollowing refersto the cash flows that result from the
firm’s day-to-day activities of producing and selling?
Select correct option:

Investing Cash Flows
Financing Cash Hows
All of the given options
150. Quick Ratioisalso known as:
Select correct option:

Current Ratio

Cash Ratio
None of the given options

151. Mr.Y and Mr. Z are planning to shar e théir capital to run a business.
They are going to employ which of thefollowing type of business?
Select correct option:

Sole-proprietorship

Corporation
None of the given options

152. If you haye Rs. 30in asset A and Rs. 120 in another asset B, the
weightsfor assets A and B will be___and __ respectively.
Select correct option:

37%:;63%
63%; 37%
380%; 20%

153. When cor porations borrow, they generally promiseto: 1. Make
regular scheduled interest payments|l. Givetheright of voting to
bondholderslii. Repay the original amount borrowed (principal) 1V. Give
an ownership interest in thefirm
Select correct option:
| and I
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[land IV
[, 1, and IV

154, Which of thefollowing isNOT included in a bond indenture?
Select correct option:
The basic terms of bond issue
The total amount of bonds issued

A description of the security

155. What would be the present value of Rs. 10,000 to be received after 6
yearsat a discount rate of 8 percent?
Select correct option:

Rs. 9,981
Rs. 14,800
Rs. 15,869
156. Which of the following statement is TRUE regar ding debt?
Select correct option:

Debt is an ownership interest in the firm.

Debt provides the voting rights to the bondholders.
Corporation’s payment of interest on/debt isfully taxable.

157. The preferred stock ofsa company currently sellsfor Rs. 25 per share.
The annual dividend 6fiRs. 2.50 isfixed. Assuming a constant dividend
forever, what istherate of return on this stock?

Select correct.option:

5.00 percent
7.00 pereent
8.45"percent

Which of thefollowing isa special case of annuity, where the stream
of cash flows continues forever?
Select correct option:

Ordinary Annuity
Specia Annuity
Annuity Due
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159. JJ Inc. hasa 4 percent return on total assets of Rs. 500,000 and a net
profit margin of 5 percent. Total salesfor JJ Inc. would be:
Select correct option:

Rs. 150,000
Rs. 200,000
Rs. 250,000

ROTA =N.P/ Total Assets
4% = N.P /500,000

4% * 500,000 = N.P

N.P = Rs. 20,000

N.P Margin =N.P/ Sales
5% =20,000/ Sales

5% * Sales = 20,000
Sales = 20,000/ 5%
Sales = 400,000

160. Which of the following rateimakes the Net Present Value (NPV) equal
to zero?
Select correct option:

Average Accounting Return (AAR)

Required Rate of Returh (RRR)
Weighted Average Costof Capital (WACC)

161. Which of thefollowing isthe expected rate of return on a bond if
bought at its current market price and held to maturity
Select correct option:

Current Yield
Coupon Yield
Capital GainsYield
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162. If a firm uses cash to purchaseinventory, itsquick ratio will:
Select correct option:
Increase

Remain unaffected
Become zero

163. afirm uses cash to purchaseinventory, itscurrent ratiowill:
Select correct option:

Decrease
Remain unaffected
Become zero



